
 

Exampel John buys a motorcycle He pays
1 1850 deposit and 36 monthly payments
of 93.25

How much does he pay for
motor cycle

f 1850 t 36 x 43.25 5207

John could bought it for 4500 cash What

percentage extra did he pay through buying it

in instalments

Paid extra 5207 4500 f 2oz

707
X 100 15 7

4500

Alternatively 52074500 l I 57

showing 15.7 extra paid

Number Problems



5 60
I 30

Z 6.90
20.00

2 6.90
left

10 of 2 15 21.50
15 11.50 13.50

No he is 40ps short of being able to buy shoes

315
2 X

t 630

Extra 112.60
12.60
63T X OO

Z lo



2000 12 24000 miles
2540000 480 gallons 1 5 480 5

2400

Income 24000 0.40 29600

Running costs 24000 0.10 2 2400
Fuel 1 2400

outgoings

Left over 9600 14800
1 4800

So yes can afford 3000 holiday

Vol 6 2 1 12 m Require 12 1.2 5 15
tonnes



A 15 X 2 49.50 E30 772.50

B 430 t 5 2 67.50 2 767.50

B is 15 cheaper

600 0.7
1420
2

1840
820

550 45
1440
2

1 880
Buy C

800 1250010000

1000



1200 x 20000
Tooo 1600

Add on 10 1600 X 1 I

1760


